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A SUM FORM FUNCTIONAL EQUATION RELATED TO
VARIOUS ENTROPIES IN INFORMATION THEORY

PREM NATH AND DHIRAJ KUMAR SINGH
University of Delhi, India

ABSTRACT. The general solutions of a sum form functional equation
have been investigated. The relevance of these solutions in relation to
various entropies in information theory has been emphasized.

1. INTRODUCTION

Forn=1,2,... let

n
Fnz{(pl,...,pn%pizo,izl,...,n;Zm:l}
1=1

denote the set of all n-component discrete complete probability distributions
with nonnegative elements.

The Shannon entropy [5] of a probability distribution (p1,...,p,) € Iy
is defined as

(A) Hy(p1,..-.pn) = — Y _ pilogy ps
i=1
where H, : ', = R, n=1,2,..., R denotes the set of all real numbers and

0log, 0 = 0. A generalization of the Shannon entropy (A) with which we shall
be concerned in this paper is (with H : T, = R, n=1,2,...)

(B) HY(p1,..ypn) = (1 =277 <1 — iﬁ)
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160 P. NATH AND D. K. SINGH

where a > 0, @« # 1, 0% := 0, 1* := 1 and o € R. The entropies (B) are
known as the nonadditive entropies of degree o, @ > 0, o # 1 and are due to
Havrda and Charvat [2]. It can be easily seen that

n
lim HY(p1,...,pn) = prilongi =H,(p1,...,Dn)-
a—1 =1

Losonczi and Maksa [3] considered the multiplicative type sum form func-
tional equation
n m n m
(L.1) SN i) =D F0i)> ] flay)
i=1 j=1 i=1 j=1
where f : T — R, I ={z € R:0 <z < 1}, (p1,...,pn) € Ty,
and (q1,...,qm)€Tly,. They found the general solutions of (1.1) for all
(p1y-+-0n)EDn, (@15 -+, Gm) €T, n > 3, m > 3 being fixed integers.
In their recent research work, Nath and Singh [4] considered the multi-
plicative type functional equation
n m n m
(1.2) DY i) = g(pi) Y hlg))
i=1 j=1 i=1 j=1
where f: I =R, g: I >R, h: I —R, (p1,...,pn) €T, and (q1,...,qm) €
I'y,. They found the general solutions of (1.2) for all (p1,...,pn) € D,
(q1,--+sGm) € Ty, n > 3, m > 3 being fixed integers. During the process of
finding these general solutions, they came across the functional equation

(13) 33 Tiay) = D T) > Tlay) + (m - w)T(O) 3 T(e)

+m(n—1)T(0)

with T': I —R; found its general solutions for all (p1,...,pn) €L, (¢1,- -+, Gm)
€ I'yy, n > 3, m > 3 being fixed integers; and utilized these solutions to find
the corresponding solutions of (1.2).

There are several nonmultiplicative type sum form functional equations
of which the functional equation (1.2) is just a part. One such functional
equations is

n m

n m m
(1.4) DSOS Fwig) = 9m) > hlgg) + Y fg))-

i=1 j=1 i=1 j=1 j=1
If the last term on the right hand side of (1.4) is omitted, we obtain (1.2). It
is in this sense that (1.2) is a part of (1.4).

The purpose of this paper is to determine the general solutions of (1.4)

for all (p1,...,pn) € Tn,y (@1, ,Gm) € T, n > 3, m > 3 being fixed integers
and then discuss the importance of these solutions from information-theoretic
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point of view, especially, in connection with the entropies (A) and (B). These
two tasks have been done in sections 3 and 4 respectively.

The process of determining the general solutions of (1.4) for all (p1,...,pn)
el (q1,---,qm) € Ty n > 3, m > 3 being fixed integers, needs determining
the general solutions of the functional equation

(1.5) Zzg(m%) = Zg(pi)ZH(Qj)
+Zg(%) —g(1) + (n—1)(m —1)g(0)

J=1

for all (p1,...,pn) € Tn,y (@1, ,Gm) € T, n > 3, m > 3 being fixed integers
and g: I - R, H : I — R such that H satisfies the condition

(1.6) H(1)+ (m—1)H(0) =1.

This has been done in section 2.

2. THE GENERAL SOLUTIONS OF FUNCTIONAL EQUATION (1.5)
WITH CONDITION (1.6)

Before investigating the general solutions of (1.5), with H satisfying the
condition (1.6), we need some definitions and results already available in the
literature (see Losonczi and Maksa [3]).

Let A = {(z,y) : 0<2<1,0<y<1,0<z+y <1} A mapping
a: I — R is said to be additive on I if a(x + y) = a(x) + a(y) holds for all
(z,y) € A. A mapping A : R — R is said to be additive on R if

(2.1) Az +y) = A(z) + A(y)

holds for all z € R, y € R. It is known (see Daréczy and Losonczi [1]) that if
a mapping a : I — R is additive on I, then it has a unique additive extension
A:R — R in the sense that A: R — R is additive on R and A(z) = a(zx) for
all z € I.

DEFINITION 2.1. A mapping M : I — R is said to be multiplicative on I
if M(0) =0, M(1) =1 and M(pq) = M(p)M(q) for all p € ]0,1[, ¢ € ]0,1]
where 10,1 ={z e R: 0 <z < 1}.

REsuLT 1 ([3]). Let k > 3 be a fized integer and c be a given constant.
Suppose a mapping p : I — R satisfies the equation

k

Z e(pi) =c

i=1
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for all (p1,...,px) € T'x. Then there exists an additive mapping B : R — R
such that

forallpeI.
REsuLT 2 ([3]). If a mapping G : I — R satisfies the functional equation

n m n m

(2:2) > Glpig) => Glpi) + > Glgy)

i=1 j= i=1 j=1

~
=

forall (p1,...,pn) €00, (g1, ,qm) € T, n >3, m > 3 being fized integers,
then G is of the form
G(0)+G(0)(nm—n—m)p+ a(p)+D(p, if0<p<l1
(2.3) G(p)= (0)+G(0)( Jp+alp)+D(p,p) f0<p
G(0) ifp=0

where G(0) is an arbitrary real constant; a : R — R is additive on R;
D:Rx ]0,1] =R is additive in the first variable, |0,1]={z€R:0 <z < 1};
there exists a mapping E : R x R — R, additive in both variables, such that
a(l) = E(1,1) and

(2.4) D(pq, pq) = D(pa.p) + D(pg, q) + E(p, q)

holds for all p € 10,1], q € ]0,1].

From (2.4), it can be easily deduced that
(2.5) a(l)+ D(1,1)=0
as E(1,1) = a(1).

RESULT 3 ([4]). If a mapping T : I — R satisfies the functional equation
(1.8) for all (p1,...,0n) € Tn, (@1y---,qm) € T, n > 3, m > 3 being fized
integers, then T is of the form

T(p) = a(p) +T(0)
where a : R — R is an additive mapping with
a(l) = —mT(0) T+ (m—-1DT0)—1#0
|\ 1-mT©) ifTA)+(m—-1)T0)—-1=0
or
T(p) = M(p) —b(p) +T(0)

where b: R — R is an additive mapping with b(1) = mT(0) and M : I — R is
a nonconstant nonadditive mapping which is also multiplicative in the sense
of Definition 2.1.

Now we prove:



A SUM FORM FUNCTIONAL EQUATION 163

THEOREM 2.2. Let n > 3, m > 3 be fized integers and g : I — R,
H : I — R be mappings which satisfy the functional equation (1.5) for all
(p1y---,0n) €Ty and (g1, ... ,qm) € T'y. Suppose H : I — R also satisfies
the condition (1.6). Then any general solution of (1.5) is of the form

g(p) = 9(0) + [g(1) — g(0)]p + a(p) + D(p,p) f0<p<1
(2.6) =9(0) ifp=0
H(p) =bi(p) — %51(1) + %

with a : R — R and D : Rx ]0,1] — R as ezplained in Result 2 or

e {g@) =b@+90)
H any real-valued function satisfying (1.6)
with
(2.8) ba(1) = —ng(0)
or

(2.9) 9(p) = — [b3(1) + ng(0)] M (p) + bs(p) + g(0), bs(1) +ng(0) #0
H(p) = M(p) — b(p) + H(0)

with

(2.10) b(1) = mH(0)

whereb : R — R, b; : R—R (i = 1,2, 3) are additive mappings and M : I — R

is a nonconstant nonadditive mapping which is multiplicative in the sense of

Definition 2.1.

PROOF. Let us write (1.5) in the form

n m

D 2 9pia) — 9(pi) 3 Hgs) = pi ) 9(a5)

i=1 | j=
=—9(1)+ (n—1)(m —1)g(0).
By Result 1, there exists a mapping A : R x I';;, — R, additive in the first

variable such that

m m

(2.11) Zg(pqg-) *g(p)ZH(qg') *ng(qg')

1
=AP;q1, - qm) — EA(l;QIaHWQm)

+ %{,g@) +(n—1)(m—1)g(0)}
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for all p € I. The substitution p = 0 in (2.11) and the use of the fact that
A(0;q1,...,qm) = 0 gives

(2.12) A(Liq1,-. - qm) = —g(1) = (n+m —1)g(0) +ng(0) > _ H(q;)

j=1

From (2.11) and (2.12), after performing necessary calculation work, we obtain

(2.13) > 9(pa;) = [9(p) = g(0)]) > _H(g;) —p>_ 9(a;)
j=1 =1 j=1
=Apiq1s-- - qm) +mg(0)
for all p € I.
Let (r1,...,7m) € T'y, be any probability distribution. Putting p =
T1,..., m successively in (2.13), adding the resulting m equations and us-

ing the additivity of A : R x I';, — R in the first variable, it follows that

(214) > g(ra) - [Z g(re) — mg(O)] > Hlay) = 9(a)

From (2.12) and (2.14),

m m
(2.15) > g(rigy) + 9(1) = (m* —m —n +1)g(0)
t=15=1
m m m
= [Z g(re) + (n — m)g(O)] > H(g)+ Y 9(4))-
t=1 j=1 j=1
The left hand side of (2.15) is symmetric in 7, and ¢j, t = 1,...,m, j =
1,...,m. So, the right hand side of (2.15) must also be symmetric in r; and
gj. This gives us the equation
m m
(2.16) o)+ (= mg)| | X ) - 1]
t=1 j=1
m m
=[S ata)+ o= mg)| [ a0 1],
j=1 t=1
m
CasgE 1. Y H(g;) — 1 vanishes identically on I';;,. This means that
j=1
(2.17) > H(g) =1
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for all (q1,...,qm) € T'wm. By Result 1, there exists an additive mapping
b1 : R — R such that

(2.15) Hp) = bilp) = -0 (1) + -

for all p € I. From (1.5) and (2.17), we obtain the equation
(219) D> 9pig))=>_9(p)+ > 9(g)—g(1)+(n— 1)(m — 1)g(0)
i=1 j=1 i=1 j=1

valid for all (p1,...,pn) € T, (¢1y---,qm) € T, n > 3, m > 3 being fixed
integers. Define the mapping G : I — R as

(2.20) G(z) = g(z) = [9(1) = (n = 1)(m — 1)g(0)]=

for all € I. Then (2.19) reduces to the equation (2.2). By Result 2, G is of
the form (2.3) with e : R — R and D : Rx ]0, 1] — R as described in Result 2.
Also, from (2.20), we have

(2.21) G(0) = ¢(0).
From (2.20), (2.21) and (2.3), it follows that

(2.22) g(p) =490 T8 =9O)p+alp) + D(p.p) HO<p<1
. 9(0) ifp=0.

Equations (2.22) and (2.18), taken together, constitute the solution (2.6) of
equation (1.5) with a : R — Rand D : Rx ]0,1] — R as described in Result 2.
Notice that (2.18) implies (1.6).

CASE 2. > H(gj) — 1 does not vanish identically on I';,. Then, there
j=1

exists a probability distribution (¢f,...,q¢},) € Iy, such that

(2.23) > H(g)—1#0.
j=1
Putting g; =¢;,j=1,...,min (2.16) and performing necessary calculations,
it follows that
(2:24) > glre) = [ H(ry) — 1] — (n—m)g(0)
t=1 t=1
where
-1
A= DCH@G) -1 D g(g) + (n—m)g(0)
j=1 j=1

CASE 2.1. A =0.
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In this case, (2.24) reduces to the equation
m

(2.25) > g(re) = (m —n)g(0)
t=1

valid for all (ry,...,7rm,) € T'yy. By Result 1, there exists an additive mapping
by : R — R such that

(2.26) 9(p) = bo(p) — ~-bo(1) + - (m — n)g(0)

for all p € I. The substitution p = 0, in (2.26), yields (2.8). Making use of
(2.8) in (2.26), we obtain

(2.27) 9(p) = ba(p) + 9(0)
for all p € I. From (2.8) and (2.27), it follows that

(2.28) > 9pi) =0
and
(2.29) Zzg(piqj) = n(m — 1)g(0)

hold for all (p1,...,pn) € Tn,y (q1,--+,Gm) € T'm. From (1.5), (1.6), (2.25),
(2.28) and (2.29), we arrive at the following conclusion:

(2.30) H : I—R is an arbitrary real-valued mapping satisfying (1.6) .

The statement (2.30), together with equations (2.27) and (2.8), constitute the
solution (2.7), of (1.5), subject to (1.6).

CASE 2.2. A #0.
In this case, let us write (2.24) in the form

m

> lg(r) = MH ()] = (m — n)g(0) — .

t=1
By Result 1, there exists an additive mapping A : R — R such that
(231)  g(p) ~ M () = Alp) ~ A1) + —{(m — n)g(0) ~ A}
for all p € I. The substitution p = 0, in (2.31), gives
(2.32) A(1) = mAH(0) —ng(0) — A,
From (2.31) and (2.32), it follows that
(2.33) 9(p) = A H(p) — H(0)] + A(p) + g(0)
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for all p € I. From (2.33) and (2.32), the following equations valid for all
(p1,---y0n) €T and (q1,...,qm) € I'y, can be derived:

234) Y > glpigy) = ADY H(pigs) — Am(n— 1)H(0)

o +7;(m_— 1)g(0) — A
(2.35) Do) = AD_H(pi)+Mm —n)H(0) = A
(2.36) > _9la) = A Hg)+(m—mn)g(0) =\

Also, from (1.6), (2.32) and (2.33), it follows that
(2.37) g(1)+ (n—1)g(0) = 0.

Now, from (1.5), (2.34), (2.35), (2.36), (2.37) and the fact that A\ # 0, it
follows that

(2.38) Z Z H(piq;) = Z H(pi) Z H(q;) + (m —n)H(0)
X Z H(qj) +m(n —1)H(0).

Thus, we see that H also satisfies the functional equation (1.3). So, by Result
3, keeping in view (1.6), H is of the form

(2.39) H(p) = a(p) + H(0)
for all p € I, where @ : R — R is an additive mapping with
(2.40) a(l)=1—-—mH(0)

or

(2.41) H(p) = M(p) — b(p) + H(0)

for all p € I with b(1) given by (2.10) and M : I — R being a nonconstant
nonadditive mapping which is also multiplicative in the sense of Definition 2.1.
In the former case, making use of the additivity of @ : R — R and (2.40), it

m
follows that ) H(g;)—1 = 0forall (q1,...,qm) € I's,, thereby, contradicting
j=1

(2.23). Hence we ignore (2.39). In the later case, we prove that > H(g;)—1
=1

does not vanish identically on T',,. To the contrary, suppose that (2.17) holds
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for all (q1,...,9m) € T'm. Also, from (2.41), (2.10) and the additivity of
b:R — R, we have

m

> Hg) =Y Mlg))

j=1 j=1

for all (q1,...,qm) € I'yy. Consequently,

ZM(%) =1

for all (¢1,...,¢m) € I's. By Result 1, there exists an additive mapping

B : R — R such that

— 1= 1
2.42 M(p) =B(p) — —BQ1) + —
(2.42) (p) = B(p) = —B(1) + —

for all p € I. The substitution p = 0, in (2.42), gives B(1) =1 as B(0) = 0
and M (0) = 0. Hence

M(p) = B(p)
for all p € I. This contradicts the fact that M is nonadditive. Thus,

m

>~ H(gj) — 1 does not vanish identically on I',,,. Making use of (2.10) and

Jj=1
the fact that M(1) = 1, (1.6) follows from (2.41). So, we accept (2.41) with
b(1) = mH(0). Now, from (2.33) and (2.41), it follows that

(2.43) 9(p) =AM (p) — Ab(p) + A(p) + g(0)
for all p € I with A #£ 0. Let us define a mapping b3 : R — R as
(2.44) b3(p) = — Ab(p) + A(p)

for all p € R. Then b3 : R — R is additive. Also, from (2.44), (2.10) and
(2.32), it follows that

(2.45) A= —[bs(1) + ng(0)].
Now, from (2.43), (2.44), (2.45) and the fact that X # 0, it follows that
(2.46) g(p) = — [bs(1) + ng(0)]M (p) + bs(p) + 9(0), bs(1) + ng(0)#0

for all p € I. Equations (2.46) and (2.41), together with (2.10), constitute the
solution (2.9) of (1.5). This completes the proof of Theorem 2.2. O

Note: If we put p = 0 in (2.18) and make use of the fact that b,(0) = 0, we
get

(2.47) bi(1) = 1 — mH(0).
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3. THE GENERAL SOLUTIONS OF FUNCTIONAL EQUATION (1.4)
Now we prove:
THEOREM 3.1. Let n > 3, m > 3 be fizxed integers and f : I — R,
g: I —>R, h:I—R,T=1]0,1], be mappings which satisfy the functional

equation (1.4) for all (p1,...,pn) € Ty and (q1,...,qm) € T'n. Then, any
general solution of (1.4) is of the form

{f(p) = a1(p)

(3.1) g(p) = ba(p) + 9(0)

h an arbitrary mapping

with ba(1) given by (2.8) or

f(p) = ai(p)
(3.2) g an arbitrary mapping
h(p) = az(p) + h(0)
with
(3.3) az(1) = —mh(0)
f(p) = [h(1) + (m = 1)R(0)]{[9(1) — g(0)]p + a(p) + D(p,p)}
+ B(p) + £(0) ifo<p<1
= £(0) ifp=0
(34) 9 g(p) = 9(0) +[9(1) — 9(0)]p + a(p) + D(p,p) f0O<p<1
=9(0) ifp=0
h(p) = [h(1) + (m — DAO)] [ba(p) — —ba(1) +
with

(3.5)  m(n—1)f(0) = [g(1) + (n = g(0)][A(1) + (m — 1)A(0)]
and a : R — R, D :Rx]0,1] = R as described in Result 2 or

f(0)=[h(1)+(m—1)R(0){ - [b3(1) +ng(0)] M (p)+bs(p) } + B(p),
[b3(1) +ng(0)] #0

9(p)=— [b3(1) + ng(0)| M (p) + b3(p) + 9(0),

h(p)=[h(1) + (m — 1)h(0)][M (p) — b(p)] + R(0)

(3.6)

(3.7) b(1) = mh(0)[h(1) + (m — 1)h(0)]*

where [h(1) + (m — 1)h(0)] # 0 in (3.4), (3.5), (3.6) and (3.7); b: R — R,
B:R—->R b :R—-R:E=123),a:R— R =1,2) are additive
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mappings; and M : I — R is a nonconstant nonadditive mapping which is
multiplicative in the sense of Definition 2.1.

To prove this theorem, we need to prove some lemmas:

LEMMA 3.2. Let n > 3, m > 3 be fized integers and f : I — R be a
mapping which satisfies the functional equation

(3.8) ZZf(pin) = Zf(Qj)

for all (p1,...,pn) € Ty, (q1,...,Gm) € Tpmy. Then there exists an additive
mapping a1 : R — R such that

(3.9) f(p) = ai(p)
forallp e 1.
PrROOF. Choose p1 =1,po=...=p, =01 =1, =... = ¢, =01in
(3.8). We obtain
(3.10) m(n —1)f(0) = 0.
Since m > 3, n > 3 are fixed integers, so (3.10) gives
(3.11) £(0) = 0.
Now putting ¢1 = 1, g2 = ... = ¢ = 0 in (3.8) and utilizing (3.11), we get

the equation
> fp) = f(1)
i=1

valid for all (p1,...,pn) € I'n. By Result 1, there exists an additive mapping
a1 : R — R such that

1 1
(3.12) f(p) = ai(p) - Eal(l) + Ef(l)
for all p € I. Putting p = 0 in (3.12), using (3.11) and the fact that a;(0) = 0,
it follows that a;(1) = f(1). Now, (3.12) reduces to (3.9). O

LEMMA 3.3. Under the conditions stated in the statement of Theorem 3.1,
the equation

(3.13) [h(1) + (m = 1)h(0)] ZZQ(M%)

h(1) + (m = 1)A0)] Y g(a5)

1 j=1

Il
M:
=N
3
H'Mg
=
ISy
¥

1
—[g() + (n = D)g(0)][A(1) + (m — 1) (0)]
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holds.
PROOF. Let us choose ¢ =1,q2 = ... = ¢, = 0in (1.4). We obtain the
equation
n
(3.14) > {F ) = [h(1) + (m = D)RO0)]g(p) }

= 7))~ (0= 1)m — 1))

By Result 1, there exists an additive mapping B : R — R such that
(3.15) f(p) = [h(1) + (m — 1)h(0)]9(p)

= B(p) ~ - B(1) + - {f(1) ~ (n — 1)(m ~ 1)f(0)}
for all p € I. Substituting p = 0 and using the fact that B(0) = 0, (3.15)
gives
(3.16) B(1) =[h(1) + (m — 1)h(0)]ng(0) + f(1) — (nm — m + 1) £(0).
From (3.15) and (3.16), it follows that
3.17)  f(p) = [A(1) + (m = 1)R(0)][g(p) — 9(0)] + B(p) + f(0)

for all p € I. From (3.17) and (3.16), the following two equations valid for all
(p1y---, pn) € Ty and (qq, ..., Gm) € Ty, can be obtained:

(318) > > fmig) = [h(1)+(m—DhO)]Y Y g(pigs)

—n(m —1)g(0)[A(1) + (m — 1)h(0)]
+f(1) + (m = 1)£(0),

(3.19) > f@) = )+ = DRO)] Y glay)
+(n =m)[h(1) + (m = 1)h(0)]¢(0)
+ f(1) — (nm —2m +1)£(0).
From (1.4), (3.18) and (3.19), it follows that

(3.20)  [A(1) + (m = 1)AO)] DD 9lpigy)

i=1 j=1

= Z (pi Z (45) +(m — 1)h(0)]zg(qj)

m(n — ) (0)[A(1) + (m — 1h(0)] = m(n — 1) f(0).
Now let us put p1 = 1, p2 = ... = p, = 0 in (3.14). We obtain (3.5). From
(3.20) and (3.5), the required equation (3.13) follows immediately. O
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ProoFr OoF THEOREM 3.1. We divide our discussion into three cases.
Cask 1. Z g(pi) vanishes identically on I',,, that is, (2.28) holds for all

(P1s---,Pn) E F Then, (1.4) reduces to (3.8) and h can be an arbitrary
mapping. By Result 1, applied to (2.28), there exists an additive mapping
by : R — R such that g(p) is of the form (2.27) with by(1) given by (2.8).
Also, by Lemma 3.2, f is of the form (3.9) in which a; : R — R is an additive
mapping. Thus, we have obtained the solution (3.1) of (1.4) with b2(1) given
by (2.8).

m
CASE 2. Y h(g;) vanishes identically on I',,,. In this case, solution (3.2)
i=1
follows. The details are omitted as the discussion is similar to the one in

Case 1.

n m
CASE 3. Neither ) g(p;) vanishes identically on I';, nor ) h(g;) vanishes
i=1 j=1
identically on F . Then there exist a(pi,...,p)el, and a(qf,...,¢,) €

Iy, such that Z g(pF) # 0 and Z h(q;) # 0 and consequently

1=

(3.21) Zg(pi)zh(qj) #0

We prove that [h(1) + (m — 1)R(0)] # 0. To the contrary, suppose that
h(1) + (m — 1)h(0) = 0. Then equation (3.13) reduces to

n

>_9vi)

i=1

h(g;) =0

Ms

<.
Il
—

valid for all (p1,...,pn) € Ty and (q1,-..,4qm) € I'm. In particular, > g(p¥)
i=1

Z h(q;) = 0 thereby contradicting (3.21). Hence h(1) + (m — 1)h(0) # 0.
DIV_ldIIlg both sides of (3.13) by [h(1) + (m — 1)h(0)], we obtain

o ﬂh(qj)
(3.22) ZZ (Pig;) Zg P ( +_m—1)h(0))
+2_9(a) = [9(1) = (0 = D)(m = 1)g(0)]
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for all © € I. Then, equation (3.22) reduces to the functional equation (1.5).
Moreover, (3.23) gives (1.6). Now we can make use of Theorem 2.2.

The solution (3.4), of (1.4), follows from (2.6), (3.17) and (3.23).

To proceed further, we observe that, from (2.7) and (2.8), (2.37) follows.
Making use of it in (3.5), we get f(0) = 0. Now equations (2.7), (3.17) and
(3.23) give rise to the solution

f(p) = [n(1) + (m — 1)h(0)]b2(p) + B(p)
9(p) = b2(p) +9(0)
h an arbitrary mapping with h(1) + (m — 1)h(0) # 0

of (1.4) along with (2.8). But this solution is included in (3.1).

Equation (2.37) also follows from (2.9) and the fact that M (1) = 1. Hence,
as above, we again have f(0) = 0. The solution (3.6), with b(1) given by (3.7),
now follows from (2.9), (3.17), (2.10) and (3.23). This completes the proof of
Theorem 3.1. O

Note: from (2.47) and (3.23), it follows that

h(1) — h(0)

(8:24) (W) = Ay s = D)

4. COMMENTS

The object of this section is to comment upon the various solutions of
Theorem 3.1 from the point of view of information theory.
The solution (3.1) is not of any relevance in information theory as the
n n
mapping h in it is arbitrary and the summands > f(p;) and Y g(p;) are
i=1 i=1
independent of the probabilities p1, ..., p,. Similarly, the solution (3.2) is also
not of any relevance in information theory. Now we discuss the importance
of solution (3.4) in information theory.
Let (p1,...,0n) € Tn, (¢1,---,Gm) € Ty, n > 3, m > 3 being fixed
integers. Let

S1={i:0<p;<1,1<i<n} and So={j:0<¢q; <1,1<j<m}.

Then S; and S5 are nonempty sets. Let ng and my denote respectively the
number of elements in S7 and S3. Then 1 < ng <nand 1 < mg < m. Making
use of the additivity of a :R—>R, B:R—>R, b :R—R, D:Rx ]0,1] = R
(in the first variable), (2.4), (2.5), (3.24) and the fact that a(1) = E(1,1),
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from (3.4), it follows that

n m

DD fwiay) = nomof(0)+ [h(1) + (m — 1)h(0)]

i=1 j=1

X {g(l) —9(0) =D, 1)+ Y D(pinapiQJ)}

i€S1 jES?
+ B(].) + (mn — mono)f(())

(4.1) ZZf(piqj) = nmf(0) + [h(1) + (m — 1)h(0)]

X {9(1) —9(0) = 2D(1,1) + > D(pipi)

€5,

+ ) D(Qj,qj)} + B(1).

JES2
Also
Zg(pi) = nog(0) + [9(1) — g(0)] — D(1,1)
+ Z D(pi, pi) + (n — no)g(0)
€5,

42) > gm) = [9(1)+ (n—1)g(0)] = D1, 1)+ > D(pi,pi) -

i=1 1€S1

Moreover,
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(4.4) Zf(qj) = mf(0)+ [h(1) + (m = 1)h(0)]

. {g<1> g - D)+ Y Dy, qn} + BQ).
JES2

Making use of the equations (4.1), (4.2), (4.3) and (4.4), it can be seen that
(1.4) is satisfied if (3.5) holds. To proceed further, we also need

(45) D _fpi) = nf0)+[R(1)+ (m—1)h(0)]

X {g(l) —9(0)=D(1,1) + Y D(pi,pi)} + B(1)

1€S1
n

(46) > hip) = [h<1>+<m1>h<o>1[

=1

MRy (1) + %}

Keeping in view the form of the Shannon entropy given by (A), it seems
desirable to choose the mapping D : Rx ]0,1] — R defined as
(4.7 D(z,y) = cxlogyy

for all x € R, y € |0, 1], ¢ an arbitrary real constant. The case ¢ = 0 is not of
much importance. So we restrict to ¢ # 0. Now

(4.8) D(p,p) = cplogy p
for all p € ]0,1] and D(1,1) = 0. To accommodate the O-probabilities, we
may assume

(4.9) lim D(p,p) =0

p—0+
or equivalently 0log, 0 =0 as ¢ # 0.
n
The summand Y h(p;), in (4.6), is independent of the probabilities
i=1

P1,...,Pn. Hence it seems to be of no use. But, (4.5) and (4.2), together
with (4.8), (A), D(1,1) = 0 and 0log, 0 = 0, give

. D
> fpi) = nf(0)+[h(1)+ (m— 1)h(0)]

i=1

x {g(1) = g(0) = cHu(p1,...,pn)} + B(1)

So) = [l9)+ (- 1)g(0)] — cHalpr,. ., pa).

i=1
Thus, we see that the mappings f and g, appearing in (1.4), are related to
the Shannon entropy.
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It may be noted that the mapping D : Rx]0,1] — R, defined by (4.7), is
additive in the first variable and satisfies (2.4) as E(1,1)=a(1)=—-D(1,1)=0.

Now we discuss the solution (3.6), together with (3.7). Making use of
the additivity of the mappings b3 : R — R, b: R — R, B : R — R; the
multiplicativity of M : I — R in the sense of Definition 2.1, it follows that

n m

(410) DD flpigy) = [R(1) + (m —1)A(0)][bs(1) + ng(0)]

<[1- w0 Y me)

~ ngO)IA(1) + (m — DAO) + B1),
@i e = b+ ag]1- 3 M)
@12 Yhle) = )+ (m— DO Mlay)
@ Y fa) = )+ o= DO + ng(0)]

<[1- e
~ng(O)[h(1) + (m — DA(O)] + B,

It can be verified that (4.10) to (4.13) do satisfy (1.4). To proceed further,
we need

n

(4.14) Zf(pi) = [A(1) + (m = DA(0)][b3(1) + ng(0)]

x [1 - ZM(M] — ng(O)[A(1) + (m — DR(0)] + B(L),

=1

(4.15) Zh(pi) = [p(1) + (n = DA(0)] = [A(1) + (m — 1)h(0)]
X l1 - Z M(pi)] .

From the point of view of information theory, taking into consideration
the nonadditive measure of entropy given by Havrda and Charvat [2] given by
(B), it is desirable to choose the mapping M : I — R defined as M(p) = p%,
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0<p<l,aeR, a>0,a#1,0%:=0and 1% :=1. Then, we get
n
Y ) = [P(1) + (m —1)h(0)][bs(1) + ng(0)]
i=1

x (1= 2" HS(p1,...,pn)
—ng(0)[2(1) + (m — 1)A(0)] + B(1),

Zg(m) = [bs(1) + ng(0)(1 — 2" ") HZ (p1, . -, pn);
Z h(p;) = [h(1)+ (n—1)h(0)] = [A(1) + (m — 1)h(0)]
=1

x (1—=2"YH%(p1,...,pn).

Thus we see that all the three mappings f, g and h, appearing in (1.4), are
related to the nonadditive entropy of degree o due to Havrda and Charvét [2].
Losonczi and Maksa [3] characterized the entropies

(4.16) Lﬁ(pl,m,pn):% le(pi)l

where p # 0.
If we use (4.16), then (4.14), (4.11) and (4.15) can be written respectively
in the form

Z fpi) = —I[h(1)+ (m—1)h(0)][bs(1) + ng(0)|uLy (p1,- .-, pn)
—ng(0)[h(1) + (m — 1)R(0)] + B(1),
Z h(p;) = [h(1)+ (n = DR(0)] + [A(1) + (m — D)R(O)]uLy(p1, - - -, Pn).
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